
©R ^2W0n1E6[ PKIuytKag USPoffPtuwAaYraen cL^LBC`.A x SAGlAlO `rpiSgPhctFsz lrseasweOrMvHeSds.N A JMpavdMeF uwZintkhm NIBnefSiTndiutbeT wArlMgYeYbhr\aa i1U.

Worksheet by Kuta Software LLC

Algebra 1

Slope-Intercept & Standard Form Conversions

Name___________________________________

Date________________  Period____

©` Z2W0G1g6S YKBujtUaT tSaokfctYwuaKrtex FLzLXCg.N J LADl`lE qrBiIgth\tysp \rRetsgelrivFeadN.

Convert each equation from standard form to slope-intercept form.

1)  x - 8y = 24 2)  x + 2y = 0

3)  4x - y = -10 4)  x + y = 4

5)  13x + 4y = 59 6)  5x + 2y = 8

Convert each equation from slope-intercept form to standard form.

7)  y = -
6

5
x + 5 8)  y = -

1

2
x + 4

9)  y = 
2

5
x + 4

10)  y = -x - 4

11)  y = 5x
12)  y = 

9

4
x + 5
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Convert each equation from standard form to slope-intercept form.

1)  x - 8y = 24

y = 
1

8
x - 3

2)  x + 2y = 0

y = -
1

2
x

3)  4x - y = -10

y = 4x + 10

4)  x + y = 4

y = -x + 4

5)  13x + 4y = 59

y = -
13

4
x + 

59

4

6)  5x + 2y = 8

y = -
5

2
x + 4

Convert each equation from slope-intercept form to standard form.

7)  y = -
6

5
x + 5

6x + 5y = 25

8)  y = -
1

2
x + 4

x + 2y = 8

9)  y = 
2

5
x + 4

2x - 5y = -20

10)  y = -x - 4

x + y = -4

11)  y = 5x

5x - y = 0

12)  y = 
9

4
x + 5

9x - 4y = -20


